
1. ..

(a)

Pr[(A ∩ B̄) ∪ (B ∩ C) ∪ (C ∩ D̄)] = Pr(A) Pr(B̄) + Pr(B) Pr(C) + Pr(C) Pr(D̄)−
−Pr(A) Pr(B̄) Pr(C) Pr(D̄)− Pr(B) Pr(C) Pr(D̄) = ...

(b)

Pr[(Ā ∪B) ∩B ∪ C ∩ (C̄ ∪D)] = 1− Pr[(A ∩ B̄) ∪B ∪ C ∪ (C ∩ D̄)]
= 1− Pr[(A ∩ B̄) ∪B ∪ C] = 1− Pr(A) Pr(B̄)− Pr(B)− Pr(C) +
+Pr(A) Pr(B̄) Pr(C) + Pr(B) Pr(C) = ...

2.
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3.

(a) Introducing A, B and C for this happening in rolls (1, 2), (2, 3) and
(3, 4), we get
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(b) Breaking it down according to where the first 6 occured:
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4.

(a)

µ = 1.35

σ = 2.475

skewness = 0.9212

(b)
20.10

5.
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6. ..

(a)

µ = −0.5385 dollars

σ = 2.713 dollars

(b)
65.31%

7.
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(a)
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59.16%
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